(G X700/800

No.1 Cylinder

HONDA Repair Information

Fuel System Inspection

Fuel Flow Fuel Injector
Inspection Inspection

1130 (]

18 cm3 minimum/5seconds at 12 V

Valve Clearance Adjustment

Piston Position
Top Dead Center Of Compression Stroke

No.1 Cylinder

\@‘E/’/

Throttle body;
TPS-1 sensor
TPS-2 sensor
TA sensor
Throttle motor
MAP sensor

N

;.Y
O ‘ t {
‘.

Liquid Sealant :
ThreeBond TB1207B .

Q
----------------------------------------

Y Fl Error Indicator Liquid Sealant

ThreeBond TB1207B

u '?ilrlr?g;ng Failure Eglsjgleble No.2 Cvlind
0.2 Cylinder
Lit oiawert Lack of oil
(on) or harness & X /‘/%
1 Abnormal battery Rectifier failure or @\
voltage over electrical load “O
O
2 Abnormal throttle Harness or throttle o
motor valve stuck
3 Abnormal throttle Harness or TPS-1
position sensor -1 (TPS-1) failure -
4 Abn_o_rmal throttle ngness or TPS-2 Adj u Stm e nt
position sensor 2(TPS-2)  failure Tappet Adjusting Wrench (3mm square)
5 Abnormal throttle position Harness or TPS-1/2 07708-0030400
sensor 1&2 correlation failure
6 Abnormal temperature Harness or (TA)
ambiance (TA) Sensor sensor failure
7 Abnormal temperature Harness or (TE)
engine (TE) sensor sensor failure
8 Abnormal manifold absolute  Harness or (MAP)
pressure (MAP) sensor sensor failure
9 Abnormal central EEPROM Or CAN
processing unit (CPU) Communication

IN 0.18 — 0.22mm
EX 0.18 — 0.22mm

Ignition System Inspection

O¥
B
—@Hﬂmﬁﬁ<—

0.7-0.8 mm

Plug: NGK BPR5ES
NOTE: Ignition sparks only at compression stroke.

[::I Secondary Side 7.4-11.2 kQ
|

="
~ |

Primary Side 1.8-2.8 Q

Flywheel Removal/Installation

Use
Flywheel Puller (070PC-ZDW0100)

. Liquid Sealant :
ThreeBond TB1207B

Read the shop manual before service.
Fuel Compression Ignition Other

© Honda Motor Co., Ltd. 2019 ROZEAO000

Ignition coil test

Ignition System Assembly/Adjustment

R
B 3park Plug Pﬁ.lugsli (CcraﬁsEaft Position) @
i >
—0.7-08mm | new  S°"SOT A
Standard Torque Values } / Plug Q.
Item Size -I;ﬂ?;:f ‘/ I % \
M4 21 ¥ 18N-m 0.2-1.0 mm
M5 4.2 . .
Serew 2 Camshaft Timing
M5 5.2 | : Installation
M6 10 GX800 GX700 10 mﬁ‘lﬁrlnm ( Flywheel
Bolt M8 22 Side
Nut Not
M10 34 | Interchangeable
M12 54 AN
M5 5.3 (—2 / \
Flange Bolt M6 12 F% ,@\ - % ]
Flange Nut M8 27 No.2 Cylinder §g @ﬁ No.1 Cylinder
M10 39 8 NOTE: Big end down
SH Bolt M6 9.0 oil o & oi

www.honda-engines-eu.com

siottacom  Printed In Belgium - Published by: Honda Motor Europe Logistics NV - Specifications can be changed without notice - Edition: HON/EEC/20-2/002 UK Mar. 2020



